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Response Grid (Check the appropriate boxes thus: X )
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The idea in this HOMEWORK is






Hw16-1. Identify

Sxt+3x2+4r X 223+ Tx

Your Work:

i. Explain your reasoning in getting your result.

ii. Circle which of the following choices matches exactly what you got above.

a. 1027 + 4126 4 2925 + 2824 b. 1027 + 4125 + 825 + 212* + 2823
c. 1027 + 412° 4 8z* + 2123 4 2822 d. 1027 + 625 + 82° + 352* + 2123 + 2822
e. None of the preceding

iii. Check on the front page the box that corresponds to your choice thus X..

Hw16-2. Identify

Sxt+3x2+4r X 223+ Tx

Your Work:

i. Explain your reasoning in getting your result.




ii. Circle which of the following choices matches exactly what you got above.

a. 1027 + 4125 + 2925 + 2824 b. 1027 + 4125 + 825 + 212* + 2823
c. 1027 + 412° 4 8z* + 2123 + 2822 d. 1027 + 625 + 82° + 352* + 2123 + 2822
e. None of the preceding

iii. Check on the front page the box that corresponds to your choice thus X..

Hw16-3. Identify

202 —3rx+4r7! X 2z 472!

Your Work:

i. Explain your reasoning in getting your result.

ii. Circle which of the following choices matches exactly what you got above.

a. —4x3 + 622 + 14x — 29 + 2812 b. —4z3 + 2022 — 29z + 28
c. 1023 — 1522 4 20z d. —4z3 4 2022 — 292 + 28
e. None of the preceding

iii. Check on the front page the box that corresponds to your choice thus X..

Hw16-4. Identify

—5h24+3h*+4h> XK —2h3 + ThP

Your Work:

i. Explain your reasoning in getting your result.



ii. Circle which of the following choices matches exactly what you got above.

a. 10h° + 4145 + 2947 + 2848 b. 10R° + 41h5 + 8h7 + 2118 + 28R°
c. 10h° 4+ 411" + 8h8 + 2112 4 28A 10 d. 10h5 + 6hS + 8K7 + 35h8 + 2147 4 28410
e. None of the preceding

iii. Check on the front page the box that corresponds to your choice thus X..

Hw16-5. Identify

5h% +3h* +4h> X 2R3 + TH®

Your Work:

i. Explain your reasoning in getting your result.

ii. Circle which of the following choices matches exactly what you got above.

a. 10h° + 4115 4+ 2907 + 28AK8 b. 10h° + 4115 + 8h" + 2148 + 28R°
c. 10h° + 41h7 + 8h8 + 2119 + 28410 d. 10h° + 6K + 8h7 + 35h8 + 21h° + 28R 10
e. None of the preceding

iii. Check on the front page the box that corresponds to your choice thus X..




Hw16-6. Identify

5h"2+3+4h X 2h+T7h3

Your Work:

i. Explain your reasoning in getting your result.

ii. Circle which of the following choices matches exactly what you got above.

a. 10 + 41h + 2912 + 28h3 b. 10h~! + 41 + 8h + 21h% + 28h3
c. 10h~' + 41h + 8h% 4 21h3 + 28K d. 10 + 6h + 8h? + 35h3 + 21h* + 28R
e. None of the preceding

iii. Check on the front page the box that corresponds to your choice thus X..
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Answer Key:
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